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2019-2020 Part 1 Expressions and Equation Test

1. Solve the Following:
Which expression is equivalent to ';_._’ o+ 617

A :— +~ 20 + &
B. Jl—u + IS_—
C.w + 6

0. n T 3

2. Solve the Following:
Which expression is equivalent to 3x + 5x + 2?
A 10x
B. 3x+7
C. 8x+ 2
D. 15x + 2
3. Solve the Following:

Which algebraic expression is equivalent to ~2(4x = 5y = 5x)?

A 2x + 10y
B. “2x - 10y
C. "Bx =5y

D. "13x = 5y



4. Solve the Following:

Which expression is not equivalent to 1.02x + 2,38y - 0,3742?
A 3.4(0.3x + 0.7y - 0.112)
B. ~3.4("0.3x - 0.7y + 0.112)
C. 1.7(0.6x + 1.4y - 0.,222)
0. 71.,7(C0.6x + 1.4y - 0,222)
5. Solve the Following:
Which expression is equivalent to "2.8x - 6.37
A "2.8(x-6.3)
B. ~2.8(x + 6.3)
C. ~1.4(2x - 4.5)

=

~1.4(2x + 4.5)



